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Mean rank of time-averaged information

1t reward vs. errors decoding 1t reward vs. errors and
15 reward vs. repetition
decodings
025 d 025¢
n=82 n=71
< °2 Monkey M c 7 Both monkeys
S S
g 015 £ 015
S S
c £
c 01} c 01
005} 005}
% o1 02 03 04 05 06 07 08 09 1 % 01 02 03 04 05 06 07 08 09 1
Post-feedback time (s) Post-feedback time (s)
025¢ c
— 1e] &
n=91 € g & n=71
02} £ *
< Monkey P g * * * Both monkeys
B o
£ 0.415¢ (7]
5 N L
E 0.1r % _\-{
o i | R
g g
005} %S +
<
o
B b
0 01 02 03 04 05 06 07 08 09 1 5
Post-feedback time (s) = §‘5 15 30 30 40 =0 &0 70 80
Temporal sensitivity (s™)
S’f’\-, n=173 f Monkey M Monkey P
Both monkeys n=38 n=33
*
* + * _ 015 * _ 005 pT
I + + é — % . 0046 |4
------------------------------------ C“> 0.1 X ? e
{ g : g -0.05
/A e v ! v
Ya'l . 005 p= ' o1
+ AH 00017, . AH ons
+ § 0 , é 0.2
+ I : I
) ' S -0
‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ VYV -00s : v
§ 0 10 20 30 40 50 60 70 80 —_ —03r R
Temporal sensitivity (s7)
t [ high t |
ensitivty 510 15 40 60 Sensitivty

q(s™



